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For each question choose one answer from the given choices A,
B, C, D or state another answer under E, and then put the chosen
letter very carefully on the following table:

Question's No. |1 |2 3 4 5 6 7 8 9 10
Chosen letter A |D C A D C D C C D
Question's No 11 |12 13 14 15 16 17 18 19 20
Chosen letter C |A D C D C C B C D

Use the following data to answer questions 1 to 3:

A random sample of 500 respondents was selected to study the attitude about
shopping for clothing. The results of this study are summarized in the
following cross-classification table:




Enjoys Gender
Shopping for Total
Clothing Male Female
Yes 136 224 360
No 104 36 140
Total 240 260 500

Suppose that a respondent is chosen at random,

Question (1): P(Female and Enjoys Shopping) equal:

(A) 0.448 (B) 0.072 (C) 0.208 (D) 0.272
Question (2): P(Female) equal:
(A) 0.720 (B) 0.280 (C) 0.480 (D) 0.520
Question (3): P(Enjoys Shopping\FemaIe) equal:
(A) 0.433 (B) 0.138 (C) 0.862 (D) 0.567
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Question (4): P(—1.24 <Z< 0.8) equal:
(A) .6806 (B) .6855 (C) .6749 (D) .7100
PAQAA Gk S

Question (5): Events are independent if

A) One event occurs, none of the other events can occur at the same time.

B) The probability of their occurrence is greater than 1.

C) At least one of the events must occur when an experiment is conducted

D) The probability of one event happening does not affect the probability of
another event happening.
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Question (6): A box contains four yellow balls and eight green balls, two balls
are drawn at random without replacement, find:
The probability that at least one of the balls is yellow is:

(A) 60/144 (B) 80/144 (C) 120/132 (D) 76/132
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Question (7): Suppose that X has a Poisson distribution with variance equal
3. Then P(X <1)equal:

(A) 5e* B) 2e”" C) 3e7? () 4e’°

PAGA Gk oA gk
Question (8): Suppose that X be a normally distributed random variable, the
mean of the standard normal random variable (2) is
(A) 3 (B)-1 €0 (D) 1
PAGA Gk oA gk g



Question (9) : Suppose that Z has a standard normal distribution and that X
has a normal distribution with mean 25 and standard deviation 2. If you know

that P(Z <1.75):.5401 the value X equal:
(A) 35.76 (B) 27.88 (C) 28.5 (D) 48.75
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Question (10) : From the figure down the area under the curve for area (2) is:

0.4245
areal
area?
o0 - B - - ~- ~ - O
(A) 0.1544 (B) 0.1173 (C) 0.2355 (D) 0.0755
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Question (11): Which of the following statement is not true about the normal
distribution?

(A) The normal curve is symmetrical about the mean p.

(B) The mean is at the middle and divides the area into halves.

(C) The total area under the curve is greater than 1.

(D) It is completely determined by its mean and standard deviation o
(or variance o).
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Use the following data to answer questions 12to 14 :
Suppose that the proportion of the students of class A at Business
administration collage, passing Statistics exam is0.7 . Four students who took
the statistics exam are selected at random.

Question (12) : The probability of no one passed the exam equals:

(A) 0.0081 (B) 0.2982 (C) 0.0713 (D) 0.3992

Question (13) : The probability of at least two student passed the exam
equals:

(A) 0.0056 (B) 0.1192 (C) 0.1522 (D) 0.9163
Question (14) : The mean and standard deviation equals:

(A)1.2,5.15 (B) 3.5,0.84 (C)2.8,0.92 (D) 4.9 ,3.24
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Use the following data to answer questions 15 and 16 :
The following table contains the probability distribution for the number of traffic
accidents daily in a small city.




Number of accidents daily (X) 0 1 2 3
Probability(P) | 0.10| 0.45| 0.40| 0.05

Question (15) : Compute the expected number of accidents per day ( E(x) ):

(A) 5.75 (B)2.3 (C)3.09 (D) 1.4
Question (16) : Find variance
(A) 13.14 (B) 4.86 (C) 0.54 (D) 6.41
DAV ok ok Gk
Question (17) : The normal curve represents a distribution where the
, , and are equal to each other.
A. range / standard deviation / variance
B. mean / median / standard deviation..
C. mean / median / mode .
D. mode/ median / standard deviation.
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Use the following data to answer questions 23 and 24 :

Assume that the number of network errors experienced in a day on a local
area network (LAN) is distributed as a Poisson random variable. The mean
number of network errors experienced in a day is 4.

Question (18) : What is the probability that in any given day less than or
equal to one network error will occur?

(A) 0.0172 (B) 0.0916 (C) 0.0467 (D) 0.1956
Question (19) : Find variance
(A) 13 (B) 2 © 4 (D) 6
PAQA Gk ok gk ¢

Question (20) : The mean of a binomial distribution depends on:
(A) Number of trials.
(B) Probability of success .
(C) Probability of failure .
(D) Number of trials and probability of success .
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